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Pacemaker

. Il. II. V. V.
Chamber(s) Chamber(s) Response to Rate Multisite
Paced Sensed Sensing Modulation Pacing
0 = None 0 =None 0 = None 0 = None 0 = None
A = Atrium A = Atrium | = Inhibited R = Rate A = Atrium
V = Ventricle V = Ventricle T =Triggered - _ V = Ventricle
Modulation
D = Dual (A+V) D = Dual (A+V) D = Dual (I+T) D =Dual (A+V)

In our example: VVIR/AAIR

Pacemaker presentation
+* Video: 14 _Pulse generators —

Pacemaker 2




Measurement of Pacemaker Pulses 1.

Task 1.): Interpretation of the given pacemaker's code and
measuring its pulse characteristics with a digital oscilloscope.

s*Video: 15 Pulse generators — Measurement of Pacemaker Pulses
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Measurement of Pacemaker Pulses 2.

_____________________________________________________________________________________________________________

_____________________________________________________________________________________________________________

dy': B.5EY [3.13] [-3.38) gt T002.00ms  1/4dk: 1.00Hz



Measurement of Pacemaker Pulses 3.

I 0.5m=

dv: 469 [4.53] [-0.09] dt: 1.03ms 1/dk 970.87Hz




Modelling of Pacemaker
Pulses 1.

Task 2.): Create a connection of the components of the model box
in order to reproduce the pacemaker pulses as accurate as

possible. Measure the pulse characteristics with the digital
oscilloscope.




Modelling of Pacemaker
Pulses 2.

_____________________________________________________________________________________________________________

_____________________________________________________________________________________________________________

gy’ 700 [3.50] [-3.50] dt: T000.00ms  14dk: 1.00Hz




Modelling of Pacemaker
Pulses 3.

I 0.5mz
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dy: 2500 [2.81)[0.31] dt: 1.70ms 1/4dt: 588.24Hz




Calculation with Pacemaker Pulses

Task 3.): Calculate the pulse energy and the number of charge
flowed through during one pulse in case of a given tissue
resistance.
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E = ?Tactive Q= ETactive



